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SN MSTED
I HSAe |4
ool MS2s 243 ¥ HS0 sS4 (o9 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNER L &4 dHel Z&L|
2,000, 0002 x20 52432 12,000
14 JIEH2 A S 80,000 80,000 0
OYarmA2 80,000
405 XHaHE S| 2,200 2,200
01 XL BEF S| 2,200 2,200
ONF2SAIS 24 SEDY 2,200
HXEE R X 69,000 46,000 23,000
201 Yte | 23,000 9,000 14,000
01 Al 22| 23,000 9,000 14,000
OAX=0E XES4aE 7Y 3,000
ORXEY HE +3 U(HA) N 20,000
202 OfH| 1,000 2,000 21,000
NETEL 1,000 2,000 21,000
OX=ME & MNEH X Y2 ol 1,000
307 21210/ & 45,000 35,000 10,000
2 RIFH AN R E 45,000 35,000 10,000
OFXERE X2 45,000
HIAL2 HMEHS X 1,669,500 1,911,750 \242,250
203 YR EA| 2,000 2,000 0
03 AIMZERH2EAY| 2,000 2,000 0
OIS RX P2 2,000
307 I2t0I & 1,667,500 1,909,750 242,250
2 BIIZAAIS R E 1,667,500 1,909,750 242,250
OF=0E KX 80,000
ORI538 HIAZHSAEI|E4+ANS 200,000
ORI528] SHSE2)| HRLEHSDHA N
+AY3| 120,000
ORI218] SHREDHAHY MILHSDH
AlMSAY3] 90,000
OUEHAES RAE L HILHBSHQ
ZHAMSANS 2 ZHHE d4 SLH3
120,000
ON24z| =2etis2Z2E2H 8=& Q135
SHSAH3 120,000
ORI33| IAERIX| OFROIEE BIIQIAIAl
SESE 60,000
OSH ST K535 HBSMHZHS 65,000
ORI33l 2t M=2IS0FRH3l 30,000
Ollksan Street Competition 40,000
OKBA 3x3 KOREA TOUR 2024 214 30,000
ONZZHHSOIE LR3I (THY) 150,000
OBt M3 HW3IRI| HALEAES
5t =043 90,000




A HSAIED
M MM |4
chol: FIS2s 2A5 L HS S4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHN522l EH &= =,8,10 AWM 150,000
OYLE A 8=S IS 160,000
OHMIosal &=H=lal & 3,500
ONS3el d=4EH=Ue & 3,500
OHMI32] &A= XHO0F2 T 2 40,000
ORNI92| HHFEIIBWAFC M=0EHO0ITH=] 25,000
OMN198] NSRRI =S53R 10,000
OXNigal LAA&HAIEE =S 3 10,000
OMI42] ALAIEH d=4E2EUH3 4,500
OHMI72 ALNSH d=tIs2s2d 10,000
ON7al etz e|tf 8 =1=2I8 U2 20,000
OMN2l #HHEEAL BEE2U3 16,000
ORN27al LHEO=E =SS QIHILIACH
3l 11,000
OUMAZ=ZY M2 =& 5,000
OclE0t2d s 8=l £ 4,000
H=2R2 MsUE A(EX) 220,000 50,000 170,000
s 40,000
Al 180,000
307 @I2t01 & 220,000 50,000 170,000
< 40,000
Al 180,000
02 2B HAHE L 220,000 50,000 170,000
OHMI33| SH=2ESEWEHAEHNY Jold A
=l 220,000
= 40,000
Al 180,000
AXSHH A2 MU XA 540,964 558,354 A17,390
202 048l 34,400 31,240 3,160
01 2L A 34,400 31,240 3,160
OM=&EL HRFA o
140,000 «20E 122 33,600
O2e MSsdA & HNE2S3IIT
tial&or ZHel ol 800
203 HR=H| 1,000 1,000
03 A= LR FAI| 1,000 1,000
OM=AEL AIHF 1,000
307 @12to| & 485,564 506,114 A20,550
02 QB HANEEX 485,564 506,114 A20,550
OXlielzl M=M=l 24 267,664
OEsHEMUYSHSUHE EX 10,000
OdsogdeN=sla &8 10,000
OHNipal 8=A4u0tetEHa 28 7,000




A HSAIED
M MM |4
ol MS2s A3 L HS |4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHMI255] LAY 2 =S 8,000
ORMI72 LAl HHEHIOIEZTHE 3,000
OHMI28al S&HAIEI] HOIEEU 2 4,000
OLAILI SHols =THEM stotg 6,000
OALASENINE HelmsEEEHa == 15,000
ORMI72] 24HAl EEFES0] 3on3 s+ U3 5,000
OMI17=2l L&A ZE O LIBH A CHE 4,500
OHMl4al 2&kAl 0t 2L E &I ELIAN
3l 7,000
ONINM3al A&AIED| & &I R0 4,500
OLtAIEE 281U = 7,000
OHMI23a] AA&HAIEEH B2 =2l 6,000
OHMl4al LIS I =Z0 2 9,000
ORNieal A&tAIEEH CHOIZ28 LS A UE 5,000
ORN242] SAAIED| BHELIE 2 10,000
OHNI213l ALt EE SS =283l 5,000
OXMI232] LAAIED| =2el OFIHEl 7,000
ORMI52 LA EH S52 =& F2U 2 6,400
ON142| SAAIZH Mets S Bla 20
2 4,000
OALAIEH AZEH LA 3,000
ORMI8al AAAIEH 03 10,000
OMNEl AAAIZE ZATHE 4,500
ORNI9=2| A &HAIZEH TITHE 3,000
Oa12 M=U2l Nzl X 20,000
OALAIEE =4 MU=l i
A& 34,000
308 AFAIEHMSOIE 20,000 20,000
13 SI[2SOHe & EAS A 20,000 20,000
OKT wiz =& &&7J| 24 Day 2 20,000
Zoie!l MsE 324,046 362,926 /38,880
307 glztol & 324,046 362,926 /38,880
02 2B YA E X 324,046 362,926 38,880
O&=ZAM=U & 15,000
OHMi443] 8=FO0AH=SHE =& 3,500
OHMl1gal d=&oistdM=t= =d 1,200
O&=XNHZHA MM FH2 =X 5,000
OXet==HMHMSUHE EX 88,746
ORMl44e det=Es0dsUHe £ 6,200
ORM402! 8SXHMHMAHMZU2 EX 4,000
OX5al A=HISESHBI LA
& AMX =0t E d2s 65,000
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ORNI32l E@=Z0HAAIOISH =TS 5,000
ORMl42] LA EE =02 HEss
=203l 8,000
ORMN92| LA EE d=2=U3 10,000
OXMI132] L&t I ESHE HE=F0HIE T
tHal 10,000
ORMI32l A&tAIEH d=s0tl=8 i3l 5,000
O EE 8= 0=E B 10,000
OArgel H=01 d=0tctEUZ] 30,000
OHMl4al ALAIEE HS 2EHMHL! =7
tHal 3,000
OHRMI32l it SHatl d=&0e! etits
AKX U= 2,400
O LAl Zofe! etits Msal 10,000
HEEH 29 K& 1,238,000 1,199,400 38,600
307 @I2to| & 1,235,000 1,168,100 66,900
02 QB AANEE R 597,500 571,600 25,900
Obi=2012tuI0l =& 34,000
ONSZ II=MEHZ(0e0l2E) 29 200,000
Os8s M=lzl Nzl XA 67,500
O YEHFTEZ 08 24 24,000
ONIZs R4AE F5 Wi 10,000
OA2er 100ME <let etz 08 29 27,000
OIZE AE=EA 35,000
OMENSXN=N S8SKIH 108,000
OZUMAHEMEXN A 2SK 72,000
OdEN=s ZEIEL S 20,000
03 M EHE2SHIEX 619,000 578,000 41,000
OALAIMF2 24| 333,000
OLtAIZIM =2 2| 266,000
05 2I2tRIE =S 18,500 18,500 0
OLHAl S Y U2& 2| 18,500
402 2I2F X201 & 3,000 9,300 26,300
01 BIENSA S E X (XM THR) 3,000 9,300 26,300
O2thIH== &2 257 3,000
w=I| 20 et XA 110,000 110,000 0
308 XXM SOIA 110,000 110,000
08 W=J| 202X 110,000 110,000
Ox=Sstu M=FHAE S 2xH| 25,000
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OdHl &XHHl S 6,500
Jl 4,550
Al 1,950

02 S3=gHl 4,510 6,000 A1,490
OM=EISHH s52= & MA 4,510
Il 3,157
Al 1,353

LOHME S XIS A BHXIAH 188,742 184,128 4,614
Jl 94,371
Al 94,371

307 glztol & 188,742 184,128 4,614
Jl 94,371
Al 94,371

02 2IZHBYAIHE £ 188,742 184,128 4,614
Ot HEMS K= At BHXIA 188,742
) 94,371
Al 94,371

M=K =AF BIXIAHS 283,112 276,192 6,920
7l 141,55
Al 141,556

307 elztol & 283,112 276,192 6,920
Jl 141,556
Al 141,556

02 2B YA E X 283,112 276,192 6,920
O MEMS XN = AL BHXIAH 283,112
Jl 141,556
Al 141,556

O M=K =X+ BiXIAHS 313,020 244,224 68,796
Il 156,510
= 78,255
Al 78,255

307 el2to| & 313,020 244,224 68,796
Jl 156,510
= 78,255
Al 78,255

02 2B YA HE X 313,020 244,224 68,796
OZ AU MEMS XN = AL BHXIAH 313,020
Jl 156,510
[ 78,255
Al 78,255

AZRAHNO0ISHE K& 1,521,600 1,068,180 453,420
Jl 1,065,120
[ 228,240
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 228,240
301 EtE NS 1,521,600 1,068,180 453,420
Il 1,065,120
= 228,240
Al 228,240
01 Al EE AT Z(2DEXR) 1,521,600 1,068,180 453,420
OAZ=ZZF0IZ2H K& 1,521,600
) 1,065,120
& 228,240
Al 228,240
FoHAAE=ZFO0|ED KIS 191,400 116,280 75,120
) 133,980
< 28,710
Al 28,710
301 EtE NS 191,400 116,280 75,120
Jl 133,980
== 28,710
Al 28,710
01 AR 2EHSHS(RDNEXRTH) 191,400 116,280 75,120
OZMAUAZ=2AR0I1ZH X 191,400
Jl 133,980
=S 28,710
Al 28,710
= 29 49,074 49,074 0
S 14,722
Al 34,352
307 lztol & 49,074 49,074 0
= 14,722
Al 34,352
02 2IZHBYAIHE & 49,074 49,074 0
odgHsud =Y 49,074
= 14,722
Al 34,352
HEHF SN 2 50,050 50,050 0
< 15,015
Al 35,035
307 212+01& 50,050 50,050 0
& 15,015
Al 35,035
02 2B YA E X 50,080 50,050 0
OdEH= FENEZA A 50,050
= 15,015
Al 35,035
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2A:

M WM |4
Rl HSAE &S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IO E ZHAI(HEAY) 250,000 0 250,000
= 250,000
401 AIEHIZ SR OHYI 250,000 0 250,000
< 250,000
01 Al&H| 250,000 0 250,000
OO E A 250,000
S 250,000
0 AEDHEE HMSAE ZEAS (HEAIY) 3,150,000 0 3,150,000
= 1,750,000
Al 1,400,000
403 MR HHMSAHE01H 3,150,000 0 3,180,000
= 1,750,000
Al 1,400,000
04 XIS THSHON CHEE RAi2E X 3,150,000 0 3,150,000
OJZU AEDHEE MEAE ZEA 3,150,000
== 1,750,000
Al 1,400,000
ESH HSSY Zd(HEAMY) 500,000 0 500,000
= 250,000
Al 250,000
401 AlEHIZ 201 500,000 0 500,000
= 250,000
Al 250,000
01 A28l 500,000 0 500,000
Osd Hssd &d 500,000
=S 250,000
Al 250,000
HEAES 288 29 6,205,848 9,879,267 A3,673,419
HEAIE RX2c 5,360,200 5,016,338 343,862
SEESY =A 2l 400,000 2,542,439 A2,142,439
401 AIEHIX SO 400,000 2,087,860 1,687,860
01 AlZH| 400,000 2,087,860 1,687,860
OZE2sE MRX EXINE 400,000
LIS AE - #AOHHI0 =X 2l 430,130 345,246 84,884
101 e124d| 198,437 97,219 101,218
04 JIZtN2Z2XNSE+ 198,437 97,219 101,218
oyag=e 24,017
oJl=2=(EY) 80,3203 x1H 247 19,840
oFEE(EY) 80,3203 x 1 »52 4,177
O+s2sd HHRA 24,017
oJlE2a (&) 80,3203 x1H#247L 19,840
oFEFE(HY) 80,320 1 »52& 4,177




A HsdSH
2 H=sAIE2

|42 S 88 2Y¢
&2l MSsAE FX2e EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O3 &| 48,033
oles(Ey) 80,320 2 247 39,679
oFEY(HY) 80,3203 x2H «52 8,34
O===234 NTZA 101,920
ollea 160,000& 2 x247 79,040
e ] 160,000 *1. 5«2 * 13 6,240
oFE XY 160,000 2% 522 16,640
OXESZAH Y MR O] =H|
150,000 *3H 450
201 L2 AH| 215,313 228,859 13,546
01 AtR2eltl 35,513 39,503 A3,990
O&F=J| 2¢ 1,740
ORo1dd 29| 400,000& 128 4,800
OFMNEAEZ 1,080
oLHR YA (Bt S ElXI)
200,000 *43| 800
oot E I LA (LHRIR) 50 x5,598m 280
OAEE a3 6,280
oM=x=83 10,0003 *104=+23| 2,080
o2 FstAlt 2,200
=24 HEL 2,000
OFZBAN =22 536
=2 B2 80,0002 43 320
od=D| H= 2 A
18,0002 *3CH*43| 216
Ozlaze| A2F 9,470
oZ+=EX 1,800 *50 = +34 At 270
03| AII=(PVC) 6002 *1,0000H 600
o3| AEH X
30,0002 x10= 14Xt 300
o3| RIIEYSE ZelHel=
100,000& x5 500
oo/ ZT2 0 o AEA LoD
S IN=E 300,000 =124 3,600
oM AIIAIA B FXIE==H|
300,000& 1200 & 3,600
oZ2&3I7 9 HE
60,0002 x5 23| 600
OHIIEH =2 9,107
oXII&Hl EIIEAL =& 1,600
osdd| otXate| s 3,000
o5& EIIBA =25 115
oAROtMAe| RUArE
275,000 =123 3,300




=M HSNED
Ha: HSAL)

149 28X =24
Rl MSAE =sA2e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 HMEH =5
173,000 *2CH 346
02U HSAA 242
173,000 *2CH 346
o2 SHHIZEA =2 400
OstEas A28 & H2EF A 2,500
2 5234l 179,800 189,35 N9,556
OFSPIEei=) 70,000
OItARZ(LPG) 90,000
Oolr=Ees= 18,000
O&stx H4 20,0003 *0E 102 1,800
206 M=l 16,380 19,168 AN2,788
01 MZH| 16,380 19,168 N2,788
OEod =& 24 10,0002 *50H 500
O+s2sd 43 & 423 9,730
oASEH IHY 7Y
9,000 * 10+ 122 1,080
oS& Xl 25,0002 185+ 12& 5,400
ot FZHA SFHAI
50,0002 x25* 102 1,000
odtF A EFEM 230,000 x1NHIE 230
ot F A SHUA 680,000 1CH 680
oAZFY JEgH 500,000 1CH 500
o= =ZIHEH 36,0002 = 15CH 540
orEEFIE A 223
100,000 *32] 300
OXof &M LHIX &
5,000,000 1K 5,000
O=Zdel #ie a2 650
OXEDl & AZHEE 7 500
SEESMSHE A 2l 75,539 118,958 A43,419
101 21AH| 37,753 0 37,753
04 JIZtN2Z2XNSE+ 37,753 0 37,753
OAld2tel D12t 224 e1FY 37,753
oll2=(8g)
10, 0403 +BAI 2Ex 1 %247 19,840
oFFRE(EY)
10,0402 +BA| 2H+1H 52 4,177
oJl=Z= ()
10,0403 x8AI 2Hx 1119 9,559
oFFE(FY)
10,0403 xBA| 2hx 1 x52 4177
201 er2&| 32,786 0 32,786
01 At2teltl 3,926 0 3,926
OoXgpIsE ¢ 486




2A:

M HSAL SBX 2%
Rl MSAE =sA2e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OStEX +¢ 720
OJIEt HaxES ¥ 1,000
O&=J| & Hitl dE 520,000 * 1= 520
OfelZHl 29 1,200,000& x 1 1,200
02 S5=24g4l 28,860 0 28,860
oNIIR3 2,000,000& ~12& 24,000
Odotees=s 500,000 ~6& 3,000
Oggtlste=s 50,0002 6 300
OelHAR=s 80,0003 +6E 480
O&stx A 540,000 <22 1,080
401 Al HIZL 201 5,000 5,000
01 Al&HI 5,000 5,000
OMSAIE FAl 2l 5,000
S22 028 MIA=ZF (S0 BE8) | 22l 94,738 196,719 101,981
101 @12A4H| 54,542 53,119 1,423
04 JIZtNZ22 XS 2+ 54,542 53,119 1,423
OstZEHl JI2tH 224 I1FY 16,789
oll2=(8g)
10, 0403 #4A| 2Ex 12 %247 9,920
oFFE(EY)
10,0403 x4 Al 2H+ 152 2,089
oJl=Z= ()
10,0402 x4 A| 2Hx1E 119 4,780
OAlE2e] J12HHl 2271 218y 37,753
oll=2(EY)
10, 0402 +BAI 2H+1H #247 19,840
oFFE(EY)
10,0402 +BA| 2k 1H 52 4,177
oJl=Z= ()
10,0403 *BAI 2E* 12 %119 9,559
oFFaE (=)
10,0403 xBAI 2H* 1 x52 4177
201 er23| 20,196 13,600 6,5%
01 AtR2t2|HI 9,200 7,840 1,360
OoXgPIsE 728 1,500
Ozt 7 4,000
OJIEt Eax88 7Y 1,000
Od=J1 S 700
OFel3H| 2,000
02 S3=gHl 10,996 5,760 5,236
(OFSPIETE= 10,000
Odstea 8,000& 128 %6
O&stx 34 20,0003 * 15E*3H 2 900
401 Al HIZ 2018 20,000 130,000 A110,000




A HsdSH
M WEAMES a8 23
Rl MSAE =sA2e (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 A=l 20,000 130,000 110,000
Onas=d = 20,000
ordZ A== KA 22 75,504 73,541 1,963
101 e124d| 75,504 73,541 1,963
M4 JRHNZ2Z2XSE+ 75,504 73,541 1,963
OJIZMZ2Z2 A 12 75,504
oJlE22(8e)
10, 0402 +BA| 2H2H +247 39,679
oFEAY(BY)
10,0403 +xBA| 22 52 8,3%4
oJl22(FY)
10,0402 +BA| 2H+2H %119 19,117
OEELY(FY)
10,0403 »BA| 2H2H #52 8,354
SAZ2BH 2 X2 (ZEH2EE) 1,317,978 1,317,978
39 HES 1,243,978 1,243,978
01 SAL- SHIYHES 1,243,978 1,243,978
Osgezsd Utd 24 1,243,978
404 SAEHH=EHES 74,000 74,000
01 SAk- SEHHEHES 74,000 74,000
osgzsd 2l 74,000
SAZREBE 28 X2 (HHAAHHS2) 301,434 0 301,434
309 HES 241,434 241,434
01 SAl - SHIYNES 241,434 241,434
O &t Lid =2 e 29 241,434
401 Al HIZL 201 60,000 60,000
01 Al=H| 60,000 60,000
O &t LM S 2 =XHE D] X 60,000
CAZeBY 2 X3 (Iusa 1,623,181 0 1,623,181
309 HES 1,588,911 1,588,911
01 SAL- SHIYHES 1,588,911 1,588,911
O=gldg2 (& 23 1,588,911
404 SAHSEHAHEEES 34,270 34,270
01 AL - SHI=EE= 34,270 34,270
O=¢pld&z 2e| 34,270
SAZRIBY 28 X (MRARUSHHSS) 1,041,696 0 1,041,696
309 HES 1,032,456 1,032,456
01 SAL- SHIYHES 1,032,456 1,032,456
ONSAALGSHISZ (Y 22 1,082,456
404 SAISEH=EES 9,240 9,240
01 SAL- SEHHEdES 9,240 9,240
ONRHAUSHMSF2 2 9,240
SESYHLUALIMYH 29 845,648 2,466,047 1,620,399




A HSAIEW
BH: HSAES BEX 29
CHol: SYSAWATXME 29 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SIESEHIALXMYH Z2H 2 329,774 308,919 20,855
101 @124H| 314,574 300,989 13,585
M ORNZZE2NSE S 314,574 300,989 13,585
O A& 203,573
o+g 17, 3403 T A 2H2E »247L 59,962
o™ A 17, 3403 7T Al 2Ex 18 x247& 29,981
ooflof 22 27 56021 #4 | 2hx 12 #1562 7,198
00t 012 44,1002 1Al 24+ 12 #1562 6.880
o4 (YBSY)
17,3402 x3A| 2H+2E 30 L <22 6,243
oYM RA
10, 5403 +BAI 2H*4H %247 83,309
OAlRAZ 25 19,731
AP HOIHRH
10,5402 6 AI 2H 4B +522 +1 . 5HH 19,731
O ] 15,494
oA AT R
10,5403 *7 A 2+ x4 B x352 +1 . 5HH 15,494
Omrs8rd=sd 42,208
o=g 17,3403 +7 A| 22 525 12,624
A 17,3403 +7 Al 2 1H #6525 6,312
ool 2= 27 5602 #4A| 2+ 1B +52== 5,733
0TS UM
10,5403 *BAI 2+ 4T #5625 17,539
Ogxtsit =4 8,118
oT=HHA 17,3402 7 Al 202+ 10 2,428
o AZAL 17,3407 Al 2+ 1810 1,214
odfloi= & 27,5003 »4A| 2hx 1% 10 1,103
oS IAMLEA
10,5402 +BA| 2H+4H %102 3,373
OZA & QA 28S
150,000 *9&H 1,350
OZAt EIRS 24,100
oS A 3,300,000 x2&H 6,600
O AZA} 3,300,000& %1 3,300
oML A 3,000,000 x4 12,000
O0II Z &I 2F AL 2,200,000 14 2,200
201 el 15,200 7,930 7,270
01 At2teltl 16,200 7,930 7,270
O3zlgze| A2S(3JotE, =Tl S) 3,000
O z2 e & AL =X
22t 300,000 x 122 3,600
OsldZ2d s+ M
60,0002 51 +23] 600
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Hlw

58,746
9,887
9,887

64,287

Ab,240

MEE
Ofl &k2h

9,612
9%,612
313,408

457,128
51,468

Ofl &F2H

8,000
515,874
106,499

884
22,876
17,992

707

824

2,760

2,400

106,499
49,801
39,679
8,3%4
1,768
27,773
14,880
1,928

377,695

4,177
7,832
4177
4,121
46,228
4,000

760
1,350

27,274

5,040
1,100
900
800
11,000

3,432

692
320
990

- SRA(E) - HIRAY

- HyS

S - B

2

3

=l

200,000& *12

85,8503 »4 & x4 %3
80,3203 x3H+22 4

tel

e

10, 040 +BA| 202 247

10,0403 »BAI 2H2F #525=
10,0403 +BAI 22+ 113
10, 0403 *3A| 2H+2H 247
10,0403 #4A| 2H2B #525=
10,0403 4N 22 118
10,0403 +BAI 2Ex2E x 112
10,0403 4 A| 2Hx2&H #525=
10,0403 +3.2A1 22+ 113

10,0403« TAI 22 %2602 +1.5

OINEZH +42
gsaAL=ME AE SX

04 JIZtNZ2 2N SE+
OHM=

101 e124d|
01 AFR2t2ltl

K]

i

%240 2 5%

e

286,000 122

420,000& * 122

b= 2= 2 (545Kkw)

)

(4,49m)

225,000
222 (545kw)

[l
[

oIS &I &ZH|
oM J|ZH|H LM

o&IIEd
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oK
A0
KJ
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-
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O AIDIA HIIFA =22
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A HSAIEW
M MSAEY 528 2F
CHol: SYSAWATXME 29 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oE RRANOIEYE HSUY)
250,000 25 500
0B PY(MSCSE, J2tein)
125,003 %25 250
oAE JIAHY 200
AR () 2 28 (=8 i) 650
o2 NSHAI| ARE(EE, SZHA) 1,000
OHIUAZ ARZ(=EEE S) 2,000
401 Al HIZ R 0HbI 7,000 7,000
01 AlZ8| 7,000 7,000
Oxxcled S 6 WAl 7,000
HH2IZJHI(HMFTS) 65,911 46,410 19,501
=]l 65,911 46,410 19,501
Jl=23H| 65,911 46,410 19,501
201 er2 3| 60,991 41,490 19,501
01 AtR2te|HI 43,491 23,990 19,501
OSAEAl 7Y 23,0003 *102 A 12 2,760
OozZgH 29 195,000 24+ 122 4,680
OJIEt AtR2t2IHI 14,151
OtgETEARIME JIHY S[Y
60,0002 *12+365 21,900
02 S3=gHl 17,500 17,500 0
OgRE xR 10,000
o=l 5,000
OXFS XA 1,000
OXtE ==&t 1,000,000 *2CH 2,000
028 = 2,000
OREgEE ASZ(60HA)
200,000 * 122 2,400
OMSAIE ME= FIIXIA 5,100
202 04l 720 720
01 =LHAHI 720 720
OFEZZE WUF0Y
20,0002 x3& 122 720
203 =4l 4,200 4,200
M FA2SHIFII 4,200 4,200
ORMEEE =2 350,000+ 122 4,200




